EARAROBEEIERT — 2 N— IBISH —F

2014537280 (&) 27EEHE4H

m"fﬁ B7# B7 %#7%—f#% ‘ =z # ‘ (Esm] — | 4 (B) 14000 B
[AE4£)] 1% :140,000 ™ ~ 2% :25000M”  33%&:10,000 "  4%&:7,00H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
FTzEE :30. —3-3- . - FEME (BHE)
el 77 B4 o 1(3_0)9 3-3-3-2 | 39.7 1 :1_53 Rana
R:T7BRAT49 754 B:¥avrso—1)— B MEE
# o4 | FEME 1:30.9 7-7-63 391 — | 3 | 470 [JIER (ZHE)
N > DIsa LA 56.0 ) -3) A
L:FvI5 BV ITUY Eld=tie
B 44 | MRS 1:31.4 1-1-1-1 | 39.5| — 2 81 | BrIBE—AN (BHE)
3PN 4 | PTVER-X 56.0 21/2) () |HLEES
L:HI5TLIFLd BIIVEY—AAKR JIE 1%k
. e LI B 1 : 87— — Bria—% (BEE)
altl1|778nx29 io4 e 1.(332).0 8-8-7-6 | 40.1 7 ;1:337) A
L:Fa>N—p>b)— B:f—%v bEO- Wt > hSILZ &y K
N s 5 | EERA 1:32.6 4-4-4-5 |41 | — 4 404 | MBTAZ (554R)
5 &N 3 1J/) I X b 4.0 3) +1) FIBEE :
L:hTA=Z2d B:ZANRYwLT—F HEE &
T 4 4 | SHEKX 1:33.1 6-6-8-7 |41.5| — 6 509 | BALZ (BEE)
N - DREELES 56.0 (2172) (2) |REER
X:ao-I>J0r B:vr=rnry BNBEHNS
2 110 | RARFIKER 1:33.2 9-9-9-8 | 40.5| — 8 495 | REBL— (BEHE)
718|977 RS- * 5.0 (1/2) G | () A=z
Lz AAT54 b B:7LT770-X ZH EE
Sy e = = IWITHZ : 00— — #Wah— (BHE)
8/5|5 HNIVTF 27> %5 252.0 1'(313)'4 S R 10 f;) () A—2457
RiFaTLHN BIASIULRY Wi A
N 6 | ALE— 1:33.6 10-10-10-9 | 40.3 | — 9 437 | BEBC (BHE)
9l7|lg | RIVILEIAF+v— # 54.0 ) 4 | B x=2rT7
R:ZAZyVzlb B:/—RVYLY REF S
S > = B 4 | REEX 1:33.9 5-5-5-10 | 42.2| — 5 483 | AEEL (BEHE)
10[8[10| 77T 17V 54.0 (1°172) o) | NEH
R:Er/n704 B:7AT¥ETA FRESS
® 1—F—@EBIERL
1T=7r= 4,5,7,3,10,6,2,1,9,8
23— — 4,5,7,3,10,6,2,1,9,8
Ja=5= 4,5,7,3,10,2,1,6,9,8
43—+ — 4,7,2,5,3,1,6,9,8,10
[ N5
B OB 7 2101 | | 74 K 2-7 1603 | | # & 2-7 310M | | 3EHE 2-4-7 400/
B B 7 100 4-7 170H B = 2-7 310 JEE 7-2-4 1,430
2 100M 2-4 210M B H 7-2 500
4 110M

ABICOVWTRDTEEERROODE. TR LIV,




